Plus 10%

‘

Add 10p

£4

Deduct £6

\ 4

¥

&

X6

Double it

]

1% of this |uspl 7/8 of this

=«

4 2/7 of this

2/3 of this

Puzzle 6



26 P +19 M

2/9 of this

\ 4

Multiply by 8

& 7% of this |4»

4

+18

N2

4 Subtract 4

-y

50% of this

_END R

4

3/5 of this

Puzzle 7



£20 | 1% of this

Times by 9

\ 4

Plus £19 ‘M Subtract £6

& Double it | @

‘

X8

v

Deduct 10p

‘

75% of this

_END B

4

25% of this

Puzzle 8



25

X9

\ 4

&

+17

1/3 of this

&

10% of this |usp 4/9 of this

+19

4

Minus 1

-p

x50

g

3% of this

Puzzle 9



34p “» x100

Add £18

4

25% of this |«

Take 400p

& 1/4 of this

= x100

.4

Puzzle 10



